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Scientists have found lead in the teeth of a 
bear that lived around 1000 years ago. This 
is evidence that metal extraction long 
before the industrial revolution caused 
pollution. The scientists found lead 
concentrations in the teeth were high 
during the bear’s active months and low 
during hibernation. This suggests the lead 
came from the bear’s food, water and air 
intake. Mining and smelting practices of the 
time likely released particles into the 
environment, and these accumulated in 
the food chain. 

This bear jaw reveals pollution existed 
before the industrial revolution
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Questions

1. Describe how pollution was 
caused by lead extraction. 

2. Explain how you can extract 
lead from lead oxide by heating 
with carbon.

3. Suggest why lead was easily 
extracted 1000 years ago.

Presenter Notes
Presentation Notes
This slide summarises a recent article published by Chemistry World. Use it when teaching extraction of metals at 14–16.

Answers
Mining and smelting caused particles of lead to enter the air and water. (Most likely to due to grinding of rocks, washing ores and in smoke from smelting.)
Lead is less reactive than carbon, so carbon can displace the lead from the lead oxide.
Lead is low in the reactivity series. Less reactive metals are easier to extract as they need lower temperatures. The idea that lead was relatively abundant is creditworthy.
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